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R EY T A |1 40, 527, 986
AR T x| 1 40,527,986 |B 1 711 kg
B2 362 kg
B 3 788 kg
B 4 573 kg
B 5 1, 064 kg
B 6 583 kg
B7 283 kg
HEYRET EVI 176, 570, 203
e B BUR T = |1 23,669, 667 |[HfEER (BHR) 31 m
31 m
WiEAEIE T EV 114,855,726 |O-OENIEATL 85 m
85 m
Wi ETE T 11, 557 L
Z ot 11, 557 L
a7 ) — FREAET 2, 246 of
2, 246 i
A 14 m
A (Y) 3, 269 L
B 6, 378 L
C 1,910 L
1L < EBBIERI SR T EVI 30,343,074 |B 2,246 o
2, 246 i
KEIREL |1 7,701,736 |27 ) — FREKEL 470 el
470 m
MET VI 32, 775, 564
WiEYEIEE LT = |1 1,217,688 |#&EHEREL T (m) 6 ¥
6 n’
Z DAt T |1 15,876, 448 i@k 2 B4R B RIESE 1 =
k2 BHEEICRDERERE 1 =
Al 3 T
A9 20 AT
A (YY) 1 T
A 5 En
A 32 m
AR T K1 1,005,520 |HEMH L XN 16
16
RBREEE |1 14,675,908 |[Z5@EEHE 32 A -
32 AN-H
MBS EHE B 556 A -
556 AN-H
B LEE F |1 249, 873, 753
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Ex THE |1 18,079, 481

R E THE = |1 18,079,481 |EHTE ! >

BEN RS TR 1 =

BESTE (FEUERRIE) 1 =

BRESTE (P5HEINR) 1 =
EHETLHEE 7 |1 267,953, 234
FLim AR A |1 30, 694, 701
et By |1 30, 694, 701
BB X [1 96, 996, 000
HETEE 3 Eit 127, 690, 701
T 5 A |1 395, 643, 935
—REERR % = |1 48, 246, 065
T A& |1 443, 890, 000




